Name: | Date:

Week 27: Day 1

(| The figure below is one layer. If three layers are\/VA

o Y Complete the table.
added on top of the first layer, how many cubes 6 A e
i y X~ -
would there be in all? 5" E Point coordinate |coordinate
SR 4 ¢
-t BAGE: -4+ 3 A
\ ' ' 1 ' / 2 .B B
/2 Solve. \/3 Find the missing\ 1
2 2 value. C > C
63~ — 1;34567
286% [ ] = 2.36
O Which point is 3 units from the y-axis and 4 units
from the x-axis?
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LY, N AN F
/6 Fill in the blank with a relative adverb (where, when, why). \/7 Complete the analogy. )
Was that the time you forgot your lunch money? chef is to knife
2 ‘ \ as custodian is to
8 Trace jr T .i’g h tr t '.'.’-': s’; ! }j
- A iy ' e P @ mop '_:
Copy. ~ S - ® cleans
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Name: Date: Week 27: Day 2
(| Jilhasaboxinthe Y2 Solve. Y 4 Which point is located )
shape of a rectangular 6 v, 1 at (2, 5)?
prism. The height of the box | 3 X 4 5 ® 4 @ Point L
is 5 inches. The base of the | 4 A 7 = 4 .
box has an area of 24 in® 3 ® Point M
What is the volume of the | o .N © Point N
” :
Be: /3 Find the missing A 1 0 .P @ Point O
value. >
1 B | X
75 X [ = 0.095 1234567
5 How many units apart are points M and L?
e
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/6 Fill in the blank with a relative adverb (where, when, why). \/7 Complete the analogy. A
S Thatisthebasket _  youturnin your homework) food is to hungry
/8 B s R as wateristo
Taco.  £¥rdinerts FIMAC, ML
- e @ rain
Copy. = i
“AL ® thirsty Y




~ Name:

Date:

__ Week 27: Day 3

(| The figure is one R Y *H Y Complete the table. )
layer. If two layers TTRAGE T 6
.1 BASE . | % y-
are added on top of T 10§ ) S Point coordinate [coordinate
the first layer, how A 4 .K F
many cubes would 3 F
- J
@ere be in all” Pr .I o G
/2 Solve. \/{3 Find the missing\ 1
4 2 _ value. G " H
601(5"*— 1g34567x
57X L) = B7
O Which pointis 7 units from the y-axis and 2 units
from the x-axis?
(] =
S N\ e %
/6 Fillin the blank with a relative adverb (where, when, why). \/7 Complete the analogy. )
Y Do you know he's absent? Y fox is to fur
P e e . as bird is to
OF Trace. — gt e ; ,
- B @ wings
Copy. - ) - ) feathers ‘
A J
Name: Date: Week 27: Day 4
(l Landon has a box in the\/z Solve. Yy ‘S Y Which point is located )
shape of a rectangular 6 at (6, 4)?
prism. The heightofthe box | 4 o 5 T @ Point P
is 9 inches. The base of the ) X ) = 4 ® ® Point Q
box has an area of 42 in® 3
What is the volume of the | A5 .P © Point R
2 .
Bax /3 Find the missing A 1 = @ Point S
value. bx
' 5 How many units apart are points S and R?
] =
L al — IN S
/6 Fill in the blank with a relative adverb (where, when, why). \/7 Complete the analogy. N
\_ lwonder we will go to lunch. ) truckistoroadastrainisto
N
8 Trace. 7_4‘7 v @ railroad )
5 - ) T ® country
Oy, o - :
N J




